signal region

h— bxy — bW

h— bxy — vl — vy

my = 750 GeV my = 1000 GeV
x = 0.05 x = 0.50 x = 0.95
0 0.23 +£0.09 0.14 +0.02 0.19 +£0.02 0.25 +0.02
1 0.28 +£0.11 0.46 +0.03 0.64 +£0.04 0.62 +0.04
2 0.23 +£0.10 0.21 +£0.02 0.31 +£0.03 0.20 +£0.02
3 0.52 +0.15 0.554+0.03 0.76 +0.04 0.57 +0.03
4 0.00 +0.00 0.04 +0.01 0.06 +0.01 0.04 +0.01
5 1.59 4+ 0.25 2.08 £0.07 2.15+0.07 1.36 +0.05
6 0.00 £ 0.00 0.16 +0.02 0.25 +0.02 0.36 +=0.03
7 0.31 +£0.11 0.80 + 0.04 1.28 +0.05 1.24 +0.05
8 0.34 +£0.11 0.24 +0.02 0.44 +£0.03 0.45+0.03
9 0.62 +0.17 1.03 +0.04 1.41 +0.06 1.38 +0.05
10 0.08 +0.06 0.04 +0.01 0.10 +0.01 0.13 +0.02
11 3.07 £0.35 4.17 £0.09 6.14 £0.11 4.88 £0.10
12 0.85 +0.19 3.28 £0.08 5.42 +0.11 16.12 +0.19



